5. cvicéeni

Urcete extrémy funkce F' na dané mnoziné:

F(:c,y):%+y,:c2+y2<9
F(z,y) = 2% + 3%, 2> +y* =2

F(z,y) =222 —day +y*, 05y <V2z, 2 €(0,2)
F(z,y) =vVz+ .y, 0Zy <V, z€(0,4)
F(z,y)=2° - 3zy+3y, 2° <y <8, 2€(0,2)
@ F(z,y) = 2 — 3zy + 3y, (0,2) x (0,2)

F(r,y) = arctg (22 — ), 2 + 42 < 1
F(z,y) =22 +3y%+5, 22 +92 <2

@ F(x,y)=x® +4y*> — 2+ 2y, 22 +4y° <1

F(z,y) =2 +2zy+2y+3, y=2% zc(-1,1)
F(:c,y)::c2+2:cy+§y3,x+2y:1,$6<—5,5>
F(z,y) = g:cg — y?, uzavieny trojihelnik s vrcholy [0,0], [2,0], [2,2]
F(z,y)=5+4r — 22> + 3y —o?, || Sy <2
F(z,y) = 2% — 4wy + 3y? + y, uzavieny &tyiihelnik

s vrcholy [0,0], [4,0], [3,3], [7,3]
x? —xy + 6y — 13

F(w,y)zarctg( 9 >,m—|—y:2,x€<—1,5>

F(a,y) = (¢® —4y) - "%, 4 Sy £ —a?
Népovéda — podezielé body: [-3,0], [0, 3], [ -3], [2,V5], [2,—/5], [3,0], [0,0];
[2][0,v2], [0,-v2], [V2,0], [-v2,0]; [3] [0,0], [3, 1], [2,2], [2,0], [2, ¥2], [1,1];
4] [0, 0] [4,0], [4,2];[5][0,0], [0,8], [2,8], [1, ], @ [0,0], [0,2], [2,0], [2,2], [v2,2],
[1 1] [0 1] [0 1]’ [170]’ [ 170]7 [0 O] \/5]7 [ _\/5]7 [\/570]7 [_\/570]7 [070];

ﬁ, 4, (=554, [0, - 31, [0, 3], 13, =31 [10]10,0], (1, 1], [1,1); [11][-1,1),
3, — —2], [-5,3];12][0,0], [2,0], [2,2], [1,1];[ 18][0,0], [2,2], [%, Z], [ 2,2}, [1,2],
F? %] ] []O [0] [1]170]’ [37 3]? [77 3]? [17%]7 [673]; [ 173 ) [270]7 [57— ] [_27_4]7
2, -4 1,3



Vysledky: [ 1] min = F(—3,0) = -9, max = F(0,£3) = F(3,0) = 9;

[2] min = F(£/2,0) = 2, max = F(0, +v/2) = 6; 3] min = F(1,1) = 1,
max = F(2,2) = F(2,0) = 8; |4 | min = F(0,0) = 0, max = F(4,2) = 2+ V/2;
min = F(2,8) = —16, max = F(O, 8) = 24; 6] min = F(0,0) = 0,

max = F(2,0) = 8 | 7| min = il) max = F(+1,0) =

4’ 4

min:F(O,O):5,maX:F( ) =11; @mln— ,—%)
ma}czF(—\/g,\/I :1—|—\/_' 10 min = (0,0)zS,masz(l,l)zS;
11 |min = F(-1,1) = F(5,~2) = -}, max = F(-5,3) = 13;

mln— F(1, ):—1 maX—F(2,O):?,min:F(—2,2):—9,
max = F'(1, ) 37 m1n—F(6,3):—6,max:F(4,0):16;
min = F(2,0) = -7, max = F(-1,3) = F(5,-3) = ;

min = F(1,2) = \/—, max = F(2,—4) = 20 - !°.



